Phys 31 2024
O

Lachse 28

=
'uLST —Dn‘smss.{a.»\ /qw‘z

Ex: 298, 299,307,304 308 310,312 ,3134

Eazgy  Consenzbon
=

e Y shem for gy consdan, so for incluces 3raunj ok 5}’“\"35 ‘

I %mdﬁ andl spﬂrg_:, ae tu o
Forus that dv non-r00 work on o 5 Yskem
Hon e medonl'eal ﬁﬁ%

E = K'\' uﬂmu-ﬁ' uc"Pn’BJ + usﬁn!,gz-
Lohae

uﬁmu = M@M

MSPHIE, = '/:2, !(?"-7' ‘ ‘

Qi 1007 ;50%

':DEMD {
| s stiwahon Hur is np ned o wse Werk. Fer Wt‘j o'F +ese Foraes. We

hawe
\Nﬁmu = Mﬂg’} + Mgldt‘ =D Wﬁrzau & = Auﬂmn

WsPn'f\é = -2 MAs Y+ L k(As)T =2 Ws,on'zj = - A Utspﬁnj
We Hun hane

AX = Waet = Wamu+ WSPn/\g =5 Nz ;Auﬁ% -;Ab(gpn‘/\j
. =9 A K+ A u&rﬂu + AMSPMB =0

= AE =0



Conseruahw, Forczs

Consider e charachenshes of fe 3pn'/\3 ond granly lerees. For cach oF
Weiese borees

% thae exisls a polenhal Wy

[/L_Farw-kew& Ol\b dep.m oN
e stk of #e Syskmt  AND

o \’\Jgorce o = A upmc_g.

So
ForcL } po}-mhaf ‘ _Depmds 0N g)z,L_e va
Granty Ug = mygy | Mass of oject , verbical posihon
s?n‘ng' Usp =3 20.5% Spn‘nﬁ concraut, sping shekel (compression
.................................. — e —
VDo act deperdd 00 howo otﬂ‘e& Moves
behvan Iaihal  ongd fagl locahans
l"F W‘Fola‘- - AMF&;&, | T[mh‘al |
| 5 (MFofq f - Aoree t') { w Fined
o we only  newd to know £ nihal ond - _P"”L/?{ d

bnel locabos 1o dodorre e wiort dong . Tl pattis irelpuant. Soin He
llushraked  case

W g (ph2) = W ke

Tws  will be hue for any Force #at <ohshes Whloe =~ AW

Wam  Up 4




WLI.WUQJ’ %{om l"l&& an assoaaleo( ‘Polenhaf Q/Lé/'g/(é H&Qﬁ '+
calkd o consevahve firea

//‘*\F » ( M WOJ'LL C‘JO/‘J?— b,lj +£\£_ FOI‘CQ Oﬂh d{wﬁd‘s‘\
'\
ﬁf oree s Conservel )On Y inihal o Fnal skakes of Hee sy slem |

z »"__ end not He P.;J'{d tzken be*weﬂn Huese

zmlculus Lo 'J“Lhea O(nmalaru

e i

]hﬂ!*e 2xists Polmha( Qg Ukrea | that c.nl:j olqpm!._g on e
"'il“l stake of e system  swck Hhat e ok e b_|,1 Y ferea 1

\/\Jﬁo)c@ = - Au feree s '/‘//

Ther two xomples c;‘c@nméh'ue, foras aoe

) gravily (e Betad  swrfuce)
2) S?n‘mﬂ forees.
We aow  onsigly Hus ,Dassfbi'hﬁ For cny oter 1Ear(_¢

Qwizz 46— 350, % o7

Qui 2> 40% —60% ¢ W, ~ 0%

/l’b,g losk example shoras ot frvehiu Cannol' be a consevahve ‘FOJ‘CQ Thas

twe s no polehal  such Hat Wit e, One. oo sV
Haorh !

Tue ﬁo“bmia& ore. not

/ consevahue ¢

; s In‘r_,h\m = no Wrn'ghm pc}mh‘af \
i \
\‘ * ens16n A =D NO ensiom PO‘W’Z‘-«Q

4

% notmal force = No normal POk //

——



MﬂCLﬂMrﬁﬁJ 2Py, o qm[

Con we shll we E= KtUgua b-- i e we non-consovative fores o

7 1y - 2
do wprk© We  can b:] abmdw% e i
forces b conservahive and ron- conseryahve . / - /15; @
/}Lm @E’g{p Non-cens 2
[L an-(onsj_
o b =
AK WM FGC)"'L& 1

= chxsi + Weons 2 4

. -

AWaon- s L+ Waoa-cens 2 F -

Tuen  For  consevphue forees Hare is o POI@M} i WKOMJ’:—AMCWJ"
Seo |

AK B = Au,wﬂs A AU‘unsL ‘*Aur_ms 2 - + an—cmsi k.

=0 ALY Alenst + Algns2 +- - =

Wnan?(m& 1 +Wasn-cemsz F- -

So  we ahﬁ'm Heo tolal Wﬁg s

{.E-* k’\' M(om’l. + (){(anb'l b

-

and '{'&,L wizd warlk dong bfj a non - Canwuahuf, ‘ICK/FK_Q,I ‘

( Wnc = WM}\ -cerg | b an roﬁSEL k-

“-f-.,,_., S

-1

s gives

A= Wae

Wam  Up



3Is
248 Spring, cart and hand
A 5.0kg cart can slide along a frictionless horizontal sur- 2N

face. A spring, with spring constant 400 N/m connects W
the cart to a wall. The spring is initially compressed by
0.25m and the cart is held at rest. It is released and
subsequently a hand pushes with a constant 30N force
against the spring as the spring relaxes. Determine the
speed of the cart when the spring reaches its equilibrium
position. (1315p2023)
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